
Hidden Equation

Number Search

+ −  ×
÷ =

6 5 + =1 6 9 3 2 1 5 5

1 7 3 + =3 6 3 5 4 5 3

2 2 7 3 6 + =2 8 3 0 5

3 6 + =2 8 9 4 5 2 3 2

6 4 8 9 5 + =1 6 9 2 5

4 4 6 1 5 + =2 7 8 8 2

7 8 5 0 4 6 4 6 + =2 8

6 5 + =2 7 9 4 5 9 3 7

7 9 5 4 1 2 3 4 + =2 6

8 2 8 6 + =3 9 3 4 2 9

Instructions: Find the hidden equations! Circle each one and solve it using the 
operators addition +, subtraction −, multiplication ×, division ÷, and equals =
(see above: 5 + 1 = 6). Get started by searching left to right, one row at a time. 
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